CIE10 spectral tristimulus valuesyyay(A)=1

210,1M=Az1l 10, 1N +A32M 10 1N +A33510,1(A)

Agzj 0,000 0,000 1,000 N-445)
D65: 37 1 1(A)=24,47

X10,17=0,3137 ¥10,7=0,3309
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CIE10 spectral tristimulus valuesyyay(A)=1
210,1M=Az1l 10, 1N +Az2M 10 1N +A33510,1(A)

Agzj 0,000 0,000 1,000 N-445)
2,0 D50: 37 10, 4(A)=18,35
X10,=0,3477  y101=0,3594
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CIE10 spectral tristimulus valuesyyay(A)=1
210,1M=Az1l 10, 1N +Az2M 10 1N +A33510,1(A)

Agzj 0,000 0,000 1,000 N-445)
2,0 P40: 57 1 4(A)=14,76
X10,170,3821 Y¥10,7=0,3755
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CIE10 spectral tristimulus valuesyyay(A)=1
210,1M=Az1l 10, 1N +Az2M 10 1N +A33510,1(A)

Agzj 0,000 0,000 1,000 N-445)
2,0 A00: 37 1 1(\)=8,31
X10,70,4511  y;q 1=0,4058
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CIE10 spectral tristimulus valuesyax(A)=1

Z10.4N)=Agd
Agj 0,000 0,000 1,000 A¢-445)

2,01
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E00: £7 10 1(\)=23,35
0703332 yy=0,3332
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CIE10 spectral tristimulus valuesyax(A)=1

Z10,140)=Aadl

2,01
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Agj 0,000 0,000 1,000 A¢-445)

C00: 371 1(N)=25,84
%10,70,3103 10 10,3190
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CIE10 spectral tristimulus valuesyyay(A)=1
210,1M=Az1l 10, 1N +Az2M 10 1N +A33510,1(A)

Agzj 0,000 0,000 1,000 N-445)
2,0 P00: 37 1, 4(A)=18,96
X10,7=0,3608  yj0 10,3525

P00

400 500 600 700
wavelengthA /nm

EEOQ71-3A 1



CIE10 spectral tristimulus valuesyyay(A)=1

Z10,1M)=fe1l 101N +A32M10 1\ +A33510,1(A)

Agzj 0,000 0,000 1,000 N-445)
Q00:37 1 4(A)=28,82

X10,7=0,3065  yj01=0,3115

2,01
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